



ISSN: 0976-3031

Available Online at <http://www.recentscientific.com>

CODEN: IJRSFP (USA)

International Journal of Recent Scientific Research  
Vol. 8, Issue, 12, pp. 22292-22296, December, 2017

**International Journal of  
Recent Scientific  
Research**

DOI: 10.24327/IJRSR

## Research Article

### THREE SPECIAL SYSTEMS OF DOUBLE DIOPHANTINE EQUATIONS

Vidhyalakshmi, S., Gopalan M.A and \*Aarth Thangam, S

Department of Mathematics, Shrimati Indira Gandhi College, Trichy-620 002, Tamil Nadu, India

DOI: <http://dx.doi.org/10.24327/ijrsr.2017.0812.1241>

#### ARTICLE INFO

##### Article History:

Received 10<sup>th</sup> September, 2017

Received in revised form 14<sup>th</sup>

October, 2017

Accepted 08<sup>th</sup> November, 2017

Published online 28<sup>th</sup> December, 2017

##### Key Words:

System of double equations, integer solutions. 2010 Mathematics Subject

Classification: 11D99

#### ABSTRACT

Three different pairs of Diophantine equations are considered for their corresponding non-zero distinct integer solutions. A few interesting properties among the solutions are presented.

**Copyright © Vidhyalakshmi, S et al, 2017**, this is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

#### INTRODUCTION

The pair of pell equations of the form  $x^2 - ay^2 = 1$ ,  $y^2 - bz^2 = 1$  where a and b are distinct non-square positive integers has been studied in (Anglin, 1996; Baker and Davenport, 1969; Walsh, 1997). In (Mihai, 2007), it has been proved that the system of equations  $x^2 - (4m^2 - 1)y^2 = 1$ ,  $y^2 - bz^2 = 1$  for positive integers m and b has atmost one positive integer solution. In (Fadwa S. Abu Muriefah and Amal al Rashed, 2006), it has been shown that the system of pell equations  $y^2 - 5x^2 = 4$ ,  $z^2 - 442x^2 = 441$  has no positive integer solutions. In this context, one may refer (Gopalan et al, 2014; Gopalan et al, 2016; Gopalan et al, 2016; Gopalan et al, 2016; Meena et al, 2016; Gopalan et al, 2016; Devibala et al, 2017). The above results motivated us to search for the integer solutions for some other choices of special double Diophantine equations. In particular, an attempt has been made to obtain non-zero distinct integer solutions to the three systems of double Diophantine equations namely,  
 $y - x = p^{k+1}$ ,  $y^2 + x^2 = (2s^2 - 2s + 1)p^{2k+4}$ ;  
 $y - x = p^{2k}$ ,  $y^3 - x^3 = (3s^2 - 3s + 1)p^{6k+2}$ ;  
 $y - x = p^{2k+1}$ ,  $y^3 - x^3 = (3s^2 - 3s + 1)p^{6k+5}$ . A few

interesting properties among the solutions are presented for each of the above systems.

#### Method of Analysis

##### System: 1

The system of double equations to be solved is

$$y - x = p^{k+1} \tag{1}$$

$$y^2 + x^2 = (2s^2 - 2s + 1)p^{2k+4}, \quad k \geq 1, s \geq 0 \tag{2}$$

Eliminating y between (1) and (2), the resulting equation is

$$2x^2 + 2p^{k+1}x + p^{2k+2} - (2s^2 - 2s + 1)p^{2k+4} = 0 \tag{3}$$

Treating (3) as a quadratic in x and solving for x, we have

$$x = \frac{1}{2}p^{k+1} \left[ \sqrt{(4s^2 - 4s + 2)p^2 - 1} - 1 \right] \tag{4}$$

$$\text{Let } \alpha^2 = (4s^2 - 4s + 2)p^2 - 1 \tag{5}$$

whose smallest positive integer solution is

$$p(0) = 1, \quad \alpha(0) = 2s - 1$$

To find the other solutions of (5), consider the pellian

\*Corresponding author: **Aarth Thangam, S**

Department of Mathematics, Shrimati Indira Gandhi College, Trichy-620 002, Tamil Nadu, India

$$\alpha^2 = (4s^2 - 4s + 2)p^2 + 1 \tag{6}$$

whose smallest positive integer solution is

$$\tilde{p}(0) = 4s - 2, \quad \tilde{\alpha}(0) = 8s^2 - 8s + 3$$

The general solution  $(\tilde{p}(n), \tilde{\alpha}(n))$  of (6) is given by

$$\tilde{\alpha}(n) = \frac{1}{2} f(n), \quad \tilde{p}(n) = \frac{1}{2\sqrt{4s^2 - 4s + 2}} g(n)$$

where

$$f(n) = (8s^2 - 8s + 3 + (4s - 2)\sqrt{4s^2 - 4s + 2})^{n+1} + (8s^2 - 8s + 3 - (4s - 2)\sqrt{4s^2 - 4s + 2})^{n+1}$$

$$g(n) = (8s^2 - 8s + 3 + (4s - 2)\sqrt{4s^2 - 4s + 2})^{n+1} - (8s^2 - 8s + 3 - (4s - 2)\sqrt{4s^2 - 4s + 2})^{n+1}$$

Applying the lemma of Brahmagupta between the solutions  $(p(0), \alpha(0))$  and  $(\tilde{p}(n), \tilde{\alpha}(n))$ , we have

$$\alpha(n+1) = \frac{(2s-1)}{2} f(n) + \frac{1}{2} \sqrt{4s^2 - 4s + 2} g(n)$$

$$p(n+1) = \frac{1}{2} f(n) + \frac{(2s-1)}{2(4s^2 - 4s + 2)} \sqrt{4s^2 - 4s + 2} g(n)$$

In view of (4) and (1), the general values for x and y satisfying (1) and (2) are given by

$$\left. \begin{aligned} x(n+1) &= \frac{1}{2} p^{k+1}(n+1) (\alpha(n+1) - 1) \\ y(n+1) &= \frac{1}{2} p^{k+1}(n+1) (\alpha(n+1) + 1) \end{aligned} \right\} \tag{7}, n = -1, 0, 1, 2, \dots$$

To analyse the nature of solutions, one has to go for particular values for k and s. A few illustrations are given below.

**Illustration**

$$\text{Let } k = 1, s = 2 \tag{8}$$

The corresponding system of equation under consideration is

$$y - x = p^2, \quad y^2 + x^2 = 5p^6 \tag{9}$$

Using (8) in (7), the corresponding solutions to (9) are given by

$$x(n+1) = \frac{1}{2} p^2(n+1) (\alpha(n+1) - 1)$$

$$y(n+1) = \frac{1}{2} p^2(n+1) (\alpha(n+1) + 1)$$

$$\text{where } p(n+1) = \frac{1}{2} f(n) + \frac{3\sqrt{10}}{20} g(n)$$

$$\alpha(n+1) = \frac{3}{2} f(n) + \frac{\sqrt{10}}{2} g(n)$$

$$\text{in which } f(n) = (19 + 6\sqrt{10})^{n+1} + (19 - 6\sqrt{10})^{n+1}$$

$$g(n) = (19 + 6\sqrt{10})^{n+1} - (19 - 6\sqrt{10})^{n+1}$$

A few numerical examples are presented in Table: 1 below

**Table 1** Numerical Examples

$n$	$x(n+1)$	$y(n+1)$	$p(n+1)$
-1	1	2	1
0	$(37)^2(58)$	$(37)^2(59)$	37
1	$(1405)^2(2221)$	$(1405)^2(2222)$	1405
2	$(53353)^2(84358)$	$(53353)^2(84359)$	53353
3	$(2026009)^2(3203401)$	$(2026009)^2(3203402)$	2026009

From the above table, we have the following observations

- $x(2n)$  and  $y(2n+1)$  are odd whereas  $x(2n+1)$  and  $y(2n)$  are even,  $n \geq 0$
- $\frac{2x(n+1)}{p^2(n+1)}$  and  $\frac{2y(n+1)}{p^2(n+1)}$  are relatively prime.
- The sum  $x(n+1) + y(n+1)$  is expressed as the difference of two squares.

**Illustration**

$$\text{Let } k = 1, s = 3 \tag{10}$$

The corresponding system of equation under consideration is

$$y - x = p^2, \quad y^2 + x^2 = 13p^6 \tag{11}$$

Using (10) in (7), the corresponding solutions to (11) are given by

$$x(n+1) = \frac{1}{2} p^2(n+1) (\alpha(n+1) - 1)$$

$$y(n+1) = \frac{1}{2} p^2(n+1) (\alpha(n+1) + 1)$$

$$\text{where } p(n+1) = \frac{1}{2} f(n) + \frac{5}{2\sqrt{26}} g(n)$$

$$\alpha(n+1) = \frac{5}{2} f(n) + \frac{\sqrt{26}}{2} g(n)$$

$$\text{in which } f(n) = (51 + 10\sqrt{26})^{n+1} + (51 - 10\sqrt{26})^{n+1}$$

$$g(n) = (51 + 10\sqrt{26})^{n+1} - (51 - 10\sqrt{26})^{n+1}$$

A few numerical examples are presented in Table: 2 below

**Table 2** Numerical Examples

$n$	$x(n+1)$	$y(n+1)$	$p(n+1)$
-1	2	3	1
0	$(101)^2(257)$	$(101)^2(258)$	101
1	$(10301)^2(26262)$	$(10301)^2(26263)$	10301
2	$(1050601)^2(2678517)$	$(1050601)^2(2678518)$	1050601
3	$(107151001)^2(273182522)$	$(107151001)^2(273182523)$	107151001
4	$(10928351501)^2(27861938777)$	$(10928351501)^2(27861938778)$	10928351501

From the above table, we have the following observations

- The sum  $x(n+1) + y(n+1)$  is expressed as the difference of two squares.

- $x(2n+1)$  and  $y(2n)$  are odd whereas  $x(2n)$  and  $y(2n+1)$  are even,  $n \geq 0$
- $(y^2(n+1)+x^2(n+1))^2 [13(y(n+1)-x(n+1))+1]^2 [26(y(n+1)-x(n+1))-1] = 676(y^3(n+1)+x^3(n+1))^2$

**System 2**

The system of double equations to be solved is

$$y - x = p^{2k} \tag{12}$$

$$y^3 - x^3 = (3s^2 - 3s + 1)p^{6k+2}, \quad k \geq 1, s \geq 0 \tag{13}$$

Eliminating y between (12) and (13), the resulting equation is

$$3p^{2k}x^2 + 3p^{4k}x + p^{6k} - (3s^2 - 3s + 1)p^{6k+2} = 0 \tag{14}$$

Treating (14) as a quadratic in x and solving for x, we have

$$x = \frac{1}{6} p^{2k} \left[ \sqrt{(36s^2 - 36s + 12)p^2 - 3} - 3 \right] \tag{15}$$

$$\text{Let } \alpha^2 = (36s^2 - 36s + 12)p^2 - 3 \tag{16}$$

whose smallest positive integer solution is

$$p(0) = 1, \quad \alpha(0) = 6s - 3$$

To find the other solutions of (16), consider the pellian

$$\alpha^2 = (36s^2 - 36s + 12)p^2 + 1 \tag{17}$$

whose smallest positive integer solution is

$$\tilde{p}(0) = 4s - 2, \quad \tilde{\alpha}(0) = 24s^2 - 24s + 7$$

The general solution  $(\tilde{p}(n), \tilde{\alpha}(n))$  of (17) is given by

$$\tilde{\alpha}(n) = \frac{1}{2} f(n), \quad \tilde{p}(n) = \frac{1}{2\sqrt{36s^2 - 36s + 12}} g(n)$$

where

$$f(n) = \left( 24s^2 - 24s + 7 + (4s-2)\sqrt{36s^2 - 36s + 12} \right)^{n+1} + \left( 24s^2 - 24s + 7 - (4s-2)\sqrt{36s^2 - 36s + 12} \right)^{n+1}$$

$$g(n) = \left( 24s^2 - 24s + 7 + (4s-2)\sqrt{36s^2 - 36s + 12} \right)^{n+1} - \left( 24s^2 - 24s + 7 - (4s-2)\sqrt{36s^2 - 36s + 12} \right)^{n+1}$$

Applying the lemma of Brahmagupta between the solutions  $(p(0), \alpha(0))$  and  $(\tilde{p}(n), \tilde{\alpha}(n))$ , we have

$$\alpha(n+1) = \frac{(6s-3)}{2} f(n) + \frac{1}{2} \sqrt{36s^2 - 36s + 12} g(n)$$

$$p(n+1) = \frac{1}{2} f(n) + \frac{(6s-3)}{2\sqrt{36s^2 - 36s + 12}} g(n)$$

In view of (15) and (12), the general values for x and y satisfying (12) and (13) are given by

$$\left. \begin{aligned} x(n+1) &= \frac{1}{6} p^{2k} (n+1) (\alpha(n+1) - 3) \\ y(n+1) &= \frac{1}{6} p^{2k} (n+1) (\alpha(n+1) + 3) \end{aligned} \right\} \tag{18}, \quad n = -1, 0, 1, 2, \dots$$

To analyse the nature of solutions, one has to go for particular values for k and s. A few illustrations are given below.

**Illustration**

$$\text{Let } k = 1, s = 1 \tag{19}$$

The corresponding system of equation under consideration is

$$y - x = p^2, \quad y^3 - x^3 = p^8 \tag{20}$$

Using (19) in (18), the corresponding solutions to (20) are given by

$$x(n+1) = \frac{1}{6} p^2 (n+1) (\alpha(n+1) - 3)$$

$$y(n+1) = \frac{1}{6} p^2 (n+1) (\alpha(n+1) + 3)$$

$$\text{where } p(n+1) = \frac{1}{2} f(n) + \frac{3}{2\sqrt{12}} g(n)$$

$$\alpha(n+1) = \frac{3}{2} f(n) + \frac{\sqrt{12}}{2} g(n)$$

$$\text{in which } f(n) = (7 + 2\sqrt{12})^{n+1} + (7 - 2\sqrt{12})^{n+1}$$

$$g(n) = (7 + 2\sqrt{12})^{n+1} - (7 - 2\sqrt{12})^{n+1}$$

A few numerical examples are presented in Table: 3 below

**Table 3** Numerical Examples

n	x(n+1)	y(n+1)	p(n+1)
-1	0	1	1
0	(13) <sup>2</sup> (7)	(13) <sup>2</sup> (8)	13
1	(181) <sup>2</sup> (104)	(181) <sup>2</sup> (105)	181
2	(2521) <sup>2</sup> (1455)	(2521) <sup>2</sup> (1456)	2521
3	(35113) <sup>2</sup> (20272)	(35113) <sup>2</sup> (20273)	35113
4	(489061) <sup>2</sup> (282359)	(489061) <sup>2</sup> (282360)	489061

From the above table, we have the following observations

- $x(2n+1)$  and  $y(2n)$  are odd whereas  $x(2n)$  and  $y(2n+1)$  are even,  $n \geq 0$
- The sum  $x(n+1) + y(n+1)$  is expressed as the difference of two squares.
- $x(4n-3) \equiv 0 \pmod{7}, n \geq 1$

**Illustration**

$$\text{Let } k = 1, s = 2 \tag{21}$$

The corresponding system of equation under consideration is

$$y - x = p^2, \quad y^3 - x^3 = 7p^8 \tag{22}$$

Using (21) in (18), the corresponding solutions to (22) are given by

$$x(n+1) = \frac{1}{6} p^2(n+1)(\alpha(n+1)-3)$$

$$y(n+1) = \frac{1}{6} p^2(n+1)(\alpha(n+1)+3)$$

where  $p(n+1) = \frac{1}{2} f(n) + \frac{9}{2\sqrt{84}} g(n)$

$$\alpha(n+1) = \frac{9}{2} f(n) + \frac{\sqrt{84}}{2} g(n)$$

in which  $f(n) = (55 + 6\sqrt{84})^{n+1} + (55 - 6\sqrt{84})^{n+1}$

$$g(n) = (55 + 6\sqrt{84})^{n+1} - (55 - 6\sqrt{84})^{n+1}$$

A few numerical examples are presented in Table: 4 below

**Table 4** Numerical Examples

$n$	$x(n+1)$	$y(n+1)$	$p(n+1)$
-1	1	2	1
0	$(109)^2(166)$	$(109)^2(167)$	109
1	$(11989)^2(18313)$	$(11989)^2(18314)$	11989
2	$(1318681)^2(2014318)$	$(1318681)^2(2014319)$	1318681
3	$(145042921)^2$ $(221556721)$	$(145042921)^2$ $(221556722)$	145042921

From the above table, we have the following observations

- $x(2n)$  and  $y(2n+1)$  are odd whereas  $x(2n+1)$  and  $y(2n)$  are even,  $n \geq 0$
- The sum  $x(n+1) + y(n+1)$  is expressed as the difference of two squares.

**System 3**

The system of double equations to be solved is

$$y - x = p^{2k+1} \tag{23}$$

$$y^3 - x^3 = (3s^2 - 3s + 1)p^{6k+5}, \quad k \geq 1, s \geq 0 \tag{24}$$

Eliminating y between (23) and (24), the resulting equation is

$$3p^{2k+1}x^2 + 3p^{4k+2}x + p^{6k+3} - (3s^2 - 3s + 1)p^{6k+5} = 0 \tag{25}$$

Treating (25) as a quadratic in x and solving for x, we have

$$x = \frac{1}{6} p^{2k+1} \left[ \sqrt{(36s^2 - 36s + 12)p^2 - 3} - 3 \right] \tag{26}$$

Following the procedure similar to system-2, the corresponding values for x and y satisfying (23) and (24) are given by

$$\left. \begin{aligned} x(n+1) &= \frac{1}{6} p^{2k+1}(n+1)(\alpha(n+1)-3) \\ y(n+1) &= \frac{1}{6} p^{2k+1}(n+1)(\alpha(n+1)+3) \end{aligned} \right\} \tag{27}, n = -1, 0, 1, 2, \dots$$

To analyse the nature of solutions, one has to go for particular values for k and s. A few illustrations are given below.

**Illustration**

Let  $k = 1, s = 1$  (28)

The corresponding system of equation under consideration is

$$y - x = p^3, \quad y^3 - x^3 = p^{11} \tag{29}$$

Using (28) in (27), the corresponding solutions to (29) are given by

$$x(n+1) = \frac{1}{6} p^3(n+1)(\alpha(n+1)-3)$$

$$y(n+1) = \frac{1}{6} p^3(n+1)(\alpha(n+1)+3)$$

where  $p(n+1) = \frac{1}{2} f(n) + \frac{3}{2\sqrt{12}} g(n)$

$$\alpha(n+1) = \frac{3}{2} f(n) + \frac{\sqrt{12}}{2} g(n)$$

in which  $f(n) = (7 + 2\sqrt{12})^{n+1} + (7 - 2\sqrt{12})^{n+1}$

$$g(n) = (7 + 2\sqrt{12})^{n+1} - (7 - 2\sqrt{12})^{n+1}$$

A few numerical examples are presented in Table: 5 below

**Table 5** Numerical Examples

$n$	$x(n+1)$	$y(n+1)$	$p(n+1)$
-1	0	1	1
0	$(13)^3(7)$	$(13)^3(8)$	13
1	$(181)^3(104)$	$(181)^3(105)$	181
2	$(2521)^3(1455)$	$(2521)^3(1456)$	2521
3	$(35113)^3(20272)$	$(35113)^3(20273)$	35113
4	$(489061)^3(282359)$	$(489061)^3(282360)$	489061

From the above table, we have the following observations

- $x(2n+1)$  and  $y(2n)$  are odd whereas  $x(2n)$  and  $y(2n+1)$  are even,  $n \geq 0$
- The sum  $x(n+1) + y(n+1)$  is expressed as the difference of two squares.
- $x(4n-3) \equiv 0 \pmod{7}, n \geq 1$

**Illustration**

Let  $k = 1, s = 2$  (30)

The corresponding system of equation under consideration is

$$y - x = p^3, \quad y^3 - x^3 = 7p^{11} \tag{31}$$

Using (30) in (27), the corresponding solutions to (31) are given by

$$x(n+1) = \frac{1}{6} p^3(n+1)(\alpha(n+1)-3)$$

$$y(n+1) = \frac{1}{6} p^3(n+1)(\alpha(n+1)+3)$$

where  $p(n+1) = \frac{1}{2} f(n) + \frac{9}{2\sqrt{84}} g(n)$

$$\alpha(n+1) = \frac{9}{2} f(n) + \frac{\sqrt{84}}{2} g(n)$$

in which  $f(n) = (55 + 6\sqrt{84})^{n+1} + (55 - 6\sqrt{84})^{n+1}$   
 $g(n) = (55 + 6\sqrt{84})^{n+1} - (55 - 6\sqrt{84})^{n+1}$

A few numerical examples are presented in Table: 6 below

**Table 6** Numerical Examples

$n$	$x(n+1)$	$y(n+1)$	$p(n+1)$
-1	1	2	1
0	$(109)^3(166)$	$(109)^3(167)$	109
1	$(11989)^3(18313)$	$(11989)^3(18314)$	11989
2	$(1318681)^3(2014318)$	$(1318681)^3(2014319)$	1318681
3	$(145042921)^3(221556721)$	$(145042921)^3(221556722)$	145042921

From the above table, we have the following observations

- $x(2n)$  and  $y(2n+1)$  are odd whereas  $x(2n+1)$  and  $y(2n)$  are even,  $n \geq 1$
- The sum  $x(n+1) + y(n+1)$  is expressed as the difference of two squares.

**References**

Anglin W.S., Simultaneous pell equations, *Maths. Comp.* 65: 355-359, (1996).  
 Baker A., Davenport H., The equations  $3x^2 - 2 = y^2$  and  $8x^2 - 7 = z^2$ , *Quart. Math. Oxford*, 20(2): 129-137, (1969).  
 Walsh P.G., On integer solutions to  $x^2 - dy^2 = 1$  and  $z^2 - 2dy^2 = 1$ , *Acta Arith.* 82: 69-76, (1997).  
 Mihai C., Pairs of pell equations having atmost one common solution in positive integers, *An.St.Univ.Ovidius Constanta*, 15(1): 55-66, (2007).  
 Fadwa S. Abu Muriefah and Amal Al Rashed, The simultaneous Diophantine equations  $y^2 - 5x^2 = 4$  and  $z^2 - 442x^2 = 441$ , *The Arabian Journal for Science and engineering*, 31(2A), 207-211, 2006.

Gopalan M.A., Vidhyalakshmi S. and Lakshmi K., (2014). On the system of double equations  $4x^2 - y^2 = z^2$ ,  $x^2 + 2y^2 = w^2$ , *Scholars Journal of Engineering and Technology (SJET)*, 2(2A): 103-104.  
 Gopalan M. A., Vidhyalakshmi S. and Janani R., (2016). On the system of double Diophantine equations  $a_0 + a_1 = q^2$ ,  $a_0a_1 \pm 2(a_0 + a_1) = p^2 - 4$ , *Transactions on Mathematics<sup>TM</sup>*, 2(1): 22-26.  
 Gopalan M.A., Vidhyalakshmi S. and Nivetha A., (2016). On the system of double Diophantine equations  $a_0 + a_1 = q^2$ ,  $a_0a_1 \pm 6(a_0 + a_1) = p^2 - 36$ , *Transactions on Mathematics<sup>TM</sup>*, 2(1): 41-45.  
 Gopalan M. A., Vidhyalakshmi S. and Bhuvanewari E., (2016). On the system of double Diophantine equations  $a_0 + a_1 = q^2$ ,  $a_0a_1 \pm 4(a_0 + a_1) = p^2 - 16$ , *Jamal Academic Research Journal*, Special Issue: 279-282.  
 Meena K., Vidhyalakshmi S. and Priyadharsini C., (2016). On the system of double Diophantine equations  $a_0 + a_1 = q^2$ ,  $a_0a_1 \pm 5(a_0 + a_1) = p^2 - 25$ , *Open Journal of Applied & Theoretical Mathematics (OJATM)*, 2(1): 08-12.  
 Gopalan M.A., Vidhyalakshmi S. and Rukmani A., (2016). On the system of double Diophantine equations  $a_0 - a_1 = q^2$ ,  $a_0a_1 \pm (a_0 - a_1) = p^2 + 1$ , *Transactions on Mathematics<sup>TM</sup>*, 2(3): 28-32.  
 Devibala S., Vidhyalakshmi S., and Dhanalakshmi G., (2017). On the system of double equations  $N_1 - N_2 = 4k + 2 (k > 0)$ ,  $N_1N_2 = (2k + 1)\alpha^2$ , *International Journal of Engineering and Applied Sciences (IJEAS)*, 4(6): 44-45.

**How to cite this article:**

Vidhyalakshmi, S et al.2017, Three Special Systems of Double Diophantine Equations. *Int J Recent Sci Res.* 8(12), pp. 22292-22296. DOI: <http://dx.doi.org/10.24327/ijrsr.2017.0812.1241>

\*\*\*\*\*